Generic Load On A Beam
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100 100 2 1

200 200 3 1

150 150 4 1

wl:=|250| plf w2:=|250| plf A:=|5]| ft B:=|1| ft i:=0..rows (wl)—1

25 25 6 1

20 20 7 1

15 15 8 1

| 10 | | 10 | 9| 1

3 1
L:=10-ft  E:=32000-MPa I:=(152.4-mm) -304.8-mm BT



Rd(wl,wQ,A,B) = (wl-B-(A+§ +(w2—w1)-§-(A+¥))-%

w2 +wl

5 -B—R;(wl,w2,A,B)

Ra('wl,wZ,A,B)::

Vo (z,wl,w2,A,B):=R,(wl,w2,A,B)
(w2—wl) (z-4)

B 2

Vbc(x,wl,w2,A,B) ::Ra(wl,w2,A,B)—w1-(a:—A)
Vq(z,wl,w2,A,B):=—R,(wl,w2,A,B)

V(w,wl,w2,A,B) ::if<x§A,Vab(a:,w1,w2,A,B),if(ajg(A+B),Vbc(:c,wl,w2,A,B),Vcd(x,wl,w2,A,B)>>

Mab(x,wl,w2,A,B) ::Ra('wl ,w2,A,B)-x
2 3
My, (z,wl,w2,A,B) =R, (wl,w2,A,B)-z—wl- (‘”‘QA) _ (”~U2];w1) , (fL'—GA)

Mcd(w,wl,wQ,A,B) ::Rd('wl,wZ,A,B)-(L—m)

M(a:,wl,w2,A,B) ::if(ng,Mab(m,wl,uQ,A,B),if(mg(A+B),Mbc(m,wl,w2,A,B),Mcd(m,wl,w2,A,B)>>



Fcong (wl ,w2,A ,B) ::L

M(x,wl,wZ,A,B)dac
E-I

——

0-

3

Facm(wm,wl,wZ,A,B) ::%- fM(m,wl,uQ,A,B) dx
) 0.-m

L
R fM(x,wl,wQ,A,B)-:cd:c
E-1  J

0

$C0ng(w17w2’A’B) = Fcong(wl w2,A B)

1
E.-I |
me(mm,wl,wZ,A,B)

fM(a:,wl,uQ,A,B)-xdw

Txcong (a:x,wl ,w2,A ,B) =

). L—xcong(wl,wZ,A,B)

9a(w1,w2,A,B) ::Fcong(wl,wZ,A,B 7

Glhs,:ZQa (wl,,wQ,,A,,B,)

xcong ('wl ,w2,A,B)

Gd(wl,wQ,A,B)::—Fcong(wl,w2,A,B)- 7

ths'rz Qd (wl,wQ,A,B)

6(xw,w1,w2,A,B) ::9a(w1,w2,A,B)-w:c—me(acx,w1,w2,A,B)-(xw—chong(x:c,wl,w2,A,B))



0..n
(wf—ws)

matrix(n+1,1,max)-7+xs
n

unifspace (zs,zf ,n):=

[“’ ] :=unifspace (0.0000000001 - ft , L, 100)
xr
ngphm = Z \% (mw ywl w2, ,Ai ,Bi)

Mgmphm = —( ZM (mm , wli , w2i ,Ai ,Bi))

69“1th = —( Z 5 (:I:m ywl w2, ,Ai ,Bi))

_ m
71000
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x:=5.ft

Ty i=TOOL (ZV(m,wl_,wQ,,A,,B,) ,ac) =4.697 ft

(2

M, 00 = ZM(mmm ,wl w2 A ,B,) =1524 Ibf - ft min (Mg, q,,) =—1524 Ibf - ft

i

Oz = TN (8 gyopr,) = —25.54 thou



